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(GCF-2,3,4,5,6,7,8,10 VCF-1,2, VDCF-1,2 & SCF-1,2) 
DATE: 29.11.2021 MAXIMUM MARKS: 100  TIMING: 2 Hours 
 

BUSINESS MATHEMATICS, REASONING & STATISTICS 
 

 

1. Ans. b 

Explanation:  
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2. Ans. c 

Explanation:  

 PPRs 25:50:.1  
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 25 iSls ds flDdksa dh la[;k = 6 x 15 = 90  
 

3. Ans. c 

Explanation:  

7]5:4: BA  

 5]8:7: CB  

 40:35:28:: CBA
 

 

4. Ans. a 

Explanation:  
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5. Ans. b 

Explanation:  
n

r
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P = Rs. 1470.06 

 

6. Ans. a 

Explanation:  
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R
P )1(1  
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3

)8.01(1
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000,00,5
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 R = Rs. 1,94,016.75 

 
7. Ans. b 

Explanation:  

 ljy js[kkvksa dh la[;k  

1
22

cc
xn
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2

6

2
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cc  

 

8. Ans. c 

Explanation:  

 O;oLFkkvksa dh la[;k = dqy O;oLFkkvksa dh la[;k – nks ‘o’ lkFk esa jgs 

240!5
!2

!6
 

 

9. Ans. d 

Explanation:  

 rjhds 200
2

5

3

6
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10. Ans. d 

Explanation:  

 fofHkUu 'kCnksa dh la[;k 
!2!4!4

!11
 

 S = 4, P = 2, I = 4  

 

11. Ans. c 

Explanation:  

 
!)3(

!
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!

n

n

n

n
 

 (n-3) (n-4) (n-5) ! = 20 (n-5) ! 

 Use option. 

 

12. Ans. b 

Explanation:  

 ;fn ,d AP gS a=-111 and d=4  

 Tn = a + (n-1) d 

  = -111 + (n-1) 4  

  = - 111 + 4n – 4  

  = 4n-115  

  Tn > 0 

  4n – 115 > 0  

  n > 28
4

3
 

   U;wure iw.kkZad 
4

3
28 ls cM+k gS 29 
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13. Ans. b 

 Explanation: 
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14. Ans. d 

 Explanation: 

 log2 log3(x) = 31 = 3 

82log
3

3

x
 

x = 38 = 6561  

 

15. Ans. a 

 Explanation: 
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16. Ans. b 

 Explanation: 
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17. Ans. c 

 Explanation: 
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18. Ans. b 

 Explanation: 
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 4)(
2
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19. Ans. d 

Explanation: 

 x2 – (ewyksa dk ;ksx) x + ewyksa dk xq.kk = 0  

 0)32()32()3232(
2

xx  

 014
2

xx  

 

20. Ans. a 

Explanation: 

 a = 5,00,000 ,  d = 15,000 

 ])1(2[
2

dna
n

S
n

 

 = ]000,15)110(000,00,52[
2

10
 

 = Rs. 56,75,000 

 
21. Ans. a 

Explanation:  

'kCn"BANANA" ds v{kjksas ls cuus okys 'kCnksa dh la[;k = 60
!2!3

!6
 

'kCnksa] ftuesa N ,d lkFk gks] fd la[;k = 20
!3

!5
 

vfHk"V rjhdksa dh la[;k = 60–20 = 40 

 

22. Ans. b 

 Explanation:  

ekud fopyu
( )

 =  fo p j . k  

= 
1 0 0 1 0

 

lekUrj ek/; dh x.kuk
X

fuEu lw= }kjk gksxh % 

cgqyd = 3 ekf/;dk – 2 ek/;  

2 9 (3 2 3) 2
 ek/; 

ek/; = 
(6 9 2 9 ) / 2 2 0

 

fopj.k xq.kkad(CV)  = 
1 0 0

X  

1 0
C V 1 0 0 5 0 %

2 0  
 
23. Ans. c  

 Explanation: 

 Change in origin does not change S.D. Thus SD is k.  
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24. Ans. a 

 Explanation: 

 X -           Y 

 + R      S+  Uncle 

  

25. Ans. a 

 Explanation: 

 Z A X C Y B  
  
 

26. Ans. a 

 Explanation: 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

27. Ans. b  

 Explanation: 

 2,00,000 = A
%5

1%)51(
20

 

 A = 6048.5 = 6049 
 
28. Ans. c  

 Explanation: 

 4 ! x 5 ! = 2880 
 
29. Ans. c  

 Explanation: 

 11% = 825 
 P = 7500 
 
30. Ans. c  

 Explanation: 

 P x ((1+5%)20-1) = 1640  
 P = 16,000 
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31. Ans. a  

 Explanation: 

 B C = {5} 

 A x (B C) = {(2, 5), (3, 5)}  
 
32. Ans. b 

 Explanation: 

 5,000[(1 + 1.5%)20 (1 + 4%)16 - 1] = CI 
 CI = 7613.17 
 
33. Ans. a 

 Explanation: 
 np = 3  ; npq = 2 

 Now 3 x q = 2   Q = 2/3 

 And, P = 1-Q = 1-2/3 = 1/3 

 and, n x 1/3 = 3  n = 9 

 Now, 

9

2 1

3 3
 

 

34. Ans. b  

 Explanation: 

 1000
%14

1%)141(
5

= Future Value  

 F.V. = 6610/-  
  
35. Ans. b  

 Explanation: 

 (26 -1) x (24 - 1) = 945  
 

36. Ans. c 

Explanation: 

2 0 0 3

2 0 0 0 , 2 0 0 3

2 0 0 0

P 1 0 0
P

P
 

= 
6 0 1 0 0

4 0 0 %
1 5  

 

37. Ans. c  

Explanation:  

D= P 

2

100

R
 

768 = P 

2

100

8
 

 P = 1,20,000 

  
38. Ans. d 

 Explanation: 
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 E = 1001
100

1

n

r
 

  

   = %09.61001
200

6
1
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39. Ans. a  

Explanation: 

CI = P P
r

n

100
1  

 = 5,000 000,5
100

4
1  

= 200 

CI = 5,000 000,5
100

2
1

2

 

   = 202 

D = 202-200 = Rs. 2 

  

40. Ans. b 

 Let the sum borrowed be x. Then, 

Rs.12,000borrowedSumHence,

12,000

95

10011,400
x11,400
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95x
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100

39x
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41. Ans. d 

 Explanation: 
 P = 1/8 ; n = 10 ; q = 7/8  

 P(at least 2)  = 1 - P(0) - P(1) 

   = 
8190

10

10101 qpqp
cc

 

   = 0.3611 

  

42. Ans. a  

 Explanation: 
 n = 4  ;  p = 1/2 q = 1/2  
 P(at least 2 H) = P(2) + P(3) + P(4)  

 04

4

413

3

422

2

4
qpcqpcqpc  

 
43. Ans. d 

 Explanation: 

 P(7) = 
8

1
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44. Ans. c 

 Explanation: 
 H + 2  = J 
 O + 2  = Q 
 N + 2 = P 
 E + 2  = G 
 Y + 2 = A 
 Now, 
  V - 2 = T 
  C - 2 = A 
  T - 2 = R 
  I - 2 = G 
  G - 2 = E 
  V - 2 = T 
  U - 2 = S  
  

45. Ans. c 

 Explanation: 
 MINK - M = INK 
 

46. Ans. d 

 Explanation: 
 C + 2 = E + 2 = G + 2 = I  
 Then, J180P is wrong.  
 

47. Ans. b 

Explanation:  

 

2
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1
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48. Ans. c 

Explanation: 

 A = P

n

r
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  r =  25% 
 

49. Ans. b  

 Explanation : 

 1900
100

rx3x6000

100

rx2x10000
 

 r= 5%  
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50. Ans. b 

 Explanation: 
 No. of observation = frequency  
 
51. Ans. b 

Explanation: 

   (  √    )     (  √    )
  

  

    (  √    )     (  √    )  
    

 
52. Ans. b  

 Explanation: 

 

 

 

 

 
  

 Correct direction SE 

 But best option South  

 

53. Ans. c 
Explanation: 

 ?kVuk A : 50 o"kZ dk O;fDr 20 o"kZ rd thfor jgsxk 

 ?kVuk B :60 o"kZ dk O;fDr 20 o"kZ rd thfor jgsxk 

   ( )   
 

   
 

 

  
       ( )  

 

   
 

 

  
 

   (   )  
 

  
 

 

  
 

 

  
 
 

  
 
  

  
 

 
54. Ans. b 

 Explanation : 

1)(nn

d6
1r

2

2

R
 

990

d6
18.0

2

 

33d
2

 

65(9)(7)-33dCor.
222

 

990

65x6
1rCor.

R
 

=0.61 
 
55. Ans. b  

  Explanation: 
 + R         K+ 

  
      + M              T    

N 

E W 

S 

7 

12 
8 

20 

12 
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56. Ans. a  

 Explanation: 
 + D        J - 
 
        T 
 
57. Ans. a 

 Explanation: 

 
c

a

c

a
SD

x
  

 
58. Ans. c 

 Explanation: 
 B is the son of C but C is not the mother of B means C is the father of B. 

 A is married to C means A is the mother of B. 

 F is the brother of B means F is the son of A and C. 

 D is daughter of A means D is daughter A and C. A is the mother and hence 

 female. B is the son and hence male. C is the husband and hence male. D is the 

 daughter and hence female. E is the brother and hence male. F is the son and 

 hence male. 

 So, there are four males. 

  
59. Ans. a 

Explanation: 

 dxx
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60. Ans. b 

Explanation: 

 
aaaa

yxyx
56232

 

 
aa

yx
393

 

 Taking logarithm 

 (3a-9)log x = 3a logy 

 3a logx – 3a logy = 9 logx 

     x
y

x
a log3log  

 
61. Ans. b 

Explanation: 

 1, 10, 37, 118 

 1 x 3 + 7  = 10  

 10 x 3 + 7  = 37  

 37 x 3 + 7  = 118 

 118 x 3 + 7  = 361  
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62. Ans. a 

 Explanation:   

ncba

n
MH

1111
.  

 

63. Ans. c 

 Explanation:  

,d O;fDr 10 fofHkUu cktkjks ls 5 #i;s ds dher ds cjkcj la[;k esa v.Ms [kjhnrk gS ;fn vkidks 

izfr #i;s lHkh cktkjksa ds vkSlr v.Mks dk eku HM }kjk mi;qDr vkSlr gksxkA  

 

64. Ans. a 

 Explanation:  

2312 QQQQ  

 

65. Ans. b 

 Explanation:  

PercentilethisitSoth
n

th
n

D 20
5

1

10

)1(2
2  

 

66. Ans. a 

 Explanation:  

10 x 2.5 = 25 and marks of passed is 281-25 Avg. is 4.6
40

256
  

 
67. Ans. a 

Explanation:  

n

2

_

)(
 

 

68. Ans. c 

 Explanation:  

1, 2, 3, 4……………………..n  SD is 
12

1
2

n
 

 
69. Ans. c 

Explanation:  

;fn ?kVuk;sa ijLij viothZ gks rks nksuksa ?kVuk;sa ,d lkFk ?kfVr ugha gks ldrh gSA  

 

70. Ans. a  

Explanation:   

)(1)(
1

APAP   

   1- 3 / 8 

    = 5 / 8  

 
71. Ans. A 

Explanation:  
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(2, 3) (3, 2) (1, 4) (4, 1)     SO      
9

1

36

4
 

 
72. Ans. b 

Explanation: 

X P PX 

5 1/3 5/3 

6 1/4 6/4 

7 5/12 35/12 
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 08.6
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351820
 

 
73. Ans. c 

 Explanation: 

 ekud izlkekU; forj.k esa 10  

 

74. Ans. c 

 Explanation:  

izlkekU; odz gS lefer 

 

75. Ans. c 

 Explanation: 

 izlkekU; forj.k ds lefer gksus ds dkj.k ekf/;dk rFkk cgqyd ek/; ds cjkcj eku gh j[krs gS 

 
76. Ans. d 

Explanation: 

;fn X rFkk Y nks Lora= izlkekU; pj gS ftuds ek/; µ1 rFkk µ2
 
gS rFkk izeki fopyu 1  rFkk 2  

gS rks X + Y izlkekU; pj ds ek/; rFkk SD gksxsa ek/; = µ1 + µ2, S.D = 
2

2

2

1
 

 
77. Ans. d 

Explanation:  

fopj.k xq.kkad = 

S.D .
1 0 0

X  

S.D .
5 0 1 0 0

1 0  
5 0 1 0

S.D . 5
1 0 0  

 fopj.k = 
2 2

(S.D .) 5 2 5  

 
78. Ans. a 

 Explanation: 

 pj.k &1 izk:i ds voyksduksa dks foLrkj ds vkjksgh Øe esa O;fLFkr djus ij] 
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 pj.k & 2 ekf/;dk  (
   

 
)ok¡ in 
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   dk eku 24 gSaA 

 

79. Ans. d 

 Explanation: ∑                 
 xyr voyksaduksa dks lgh voyksaduksa ls izfrLFkkfir djus ds ckn ∑                    

         

 lgh    
    

  
       

 

80. Ans. b 

Explanation: 

G.M. = (                    )
   

 

=     
  

81. Ans. c 

 Explanation: 

 y = 19  - x
2

5
  

 byx = 
2

5
 

 

82. Ans. b 

Explanation: 

     
 ∑   

 (    )
  

         
      

  (  )
        

 
83. Ans. b 

 Explanation:  

la'kksf/kr vk; = 90.590325
110

200
 

blhfy;s deZpkjh dks gkfu gqbZ gSA  
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84. Ans. c 

 Explanation: 
 For attributes, rank correlation is the best mehtod.  

 

85. Ans. d 

 Explanation :  
 tks fd ewy ds cnyko ls Lora= rFkk iSekus ds cnyko ij vkfJr gksrs gSA 

 
86. Ans. c 

 Explanation : 

02.0
5.0

01.0
B

01.0B5.0

B5.01.0

bbr

1.0r,Bb,5.0b

yxxy

xyyx

 
 
87. Ans. c 

 Explanation :  

 Average age of 10 students = 20 yrs   

 The sum of age of 10 students = 20 x 10 = 200 yrs   

 If two boys are increased    

 The total no of students = 10+2=12   

 And average increased by 4 yrs   

 Then new average = 20 + 4 = 24   

 The sum of age of 12 student = 24 x 12 = 288   

 The sum of age of two boys = 288 – 200 = 88   

 Average age of two boys = 
  

 
 = 44 

 
88. Ans. d 

 Explanation:  

2

7
;

7

2

yxxy
bb  

 Not Possible 

  
89. Ans. b 

 Explanation:  

 Less than ogive & more than Ogive intersect at a point called MEDIAN or we can say 

second quartile. 

 
90. Ans. a  

 Explanation: 

 H + 1 = I  Now,  N + 1 = O 

 E + 1 = F  O + 1 = P  

 A + 1 = B  R + 1 = S  

 L + 1 = M  T + 1 = U 

 T + 1 = U 

 H + 1 = I  
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91. Ans. a 

 Explanation:  

  

 

 

 

 

 

 

92. Ans. b  

 Explanation:  

 

 

 

 

 

 

 

 

93. Ans. a 

 Explanation: 

 The only daughter of woman's father is she herself. So, the person is woman's son, 

i.e. the woman is the person's mother. Hence, the answer is a. 

  

94. Ans. d 

 Explanation: 

  

 

 

 

 

 

 

 

 

95. Ans. d  

 Explanation: 

 CI = 8000 [(1 + 10%)2 (1 + 4%) = 2067.2 - 1]  

 SI = 8000 x 1920
5

12

100

10
 

 Difference CI - SI = 147.2 

 

96. Ans. c  

 Explanation: 

  

 

 

 

 

 

 

N 

E W 

S 

180
o 
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o 

Y 
270

o 

SW
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97. Ans. b  

 Explanation: 

 

 

 

 

 

 

 

 

 

 

 

 

98. Ans. b  

 Explanation: 

  
 
 
 
 
 
99. Ans. c   

 Explanation: 

       
 
 
 
 
 Answer- Sister  

 
100. Ans. d  

 Explanation: 

 

 

 

 

 

 

 

 

 

 Answer-Daughter 

 

 

 

__**__ 

 

N 

E W 

S 

A 
B 

C SE 

Sister Brother - 

Ravi 

+ 

Father + 

+ 

Father  

John 

Mary 

Mother 
+ 

- 


